&3  ZERO-GRAVITY
s ROCKING CHAIR

or less



https://manuals.plus/m/970b2fb1c9d9e6a539d4881b62df74723b90af7d585a1ef9d83fb8ed84cf0937

Accessories List

[ 1\ -
Al 2l BJ]l2|lCT21DT1
ﬁl:ﬂfﬁﬁﬂﬁ-ﬁﬁi : )E L g —
E | 1 F | 2 G | 2 H1| 1
— “ || T
T T3 1 3J [ 1 | KL [ L1
g B :
2 # & :
Tool kit |M635mm [12 | M640mm [16 | Me16mm [6 | M630mm |2 |
W _ o M-6 M-6
‘E e | >—|f
i S T T )




i
I—f——%—=, place the bases in alphabetical.

==

Step1:
Assembling the seat section
Using 8 screws - M6,55mm

(BT
s |
Notice:

1-Please don't tighten all serews completely at beginning!
2-Fully tighten after completing the seat frame!




Step2:
Securing part (G) to the seat frame
Using 4 screws - MB,40mm

Notice:
1-Please don't tighten all screws completely at beginning!
2-Fully tighten after completing the chair!



) Step 3:
Connect part (G) & (F) with part (C)

1-Please don't tighten all screws completely at beginning!
2-Fully tighten after completing the chair!



Step4: Securing part (F) to the seat frame
Using 4 screws - M& 40mm

MNotice:
1-Please don't tighten all screws completely at beginning!
2-Fully tighten after completing the chair!






¥ :
Step7:

Connecting part (H) and (G)
Using 4 screws - M6 40mm

® / L\

Incorrect Installation Case




P TRTY

§Z BERFFFER D

LITEEE T LIITT PP

¥

Step8: K
Securing part (K) to part (H) and (E)
Use 4 screws - M6, 55mm

% Before installing, be sure to
place the bases in alphabetical.




—

oW

_
Step9: :
Installing the footrest by connecting part (1) and (J).
Using 2 screws - MB,30mm




Step11: into the track of part (K)
Securing the footrest's trajectory-Using 2 screws - M6,16mm




ROCKING CHAIR
ZERO-GRAVITY

ONLINE SUPPORT

Please read the installation guide carefully before installation
If you have any questions during the installation process
you can contact us and we will provide you a detailed guidance



